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Q&A - Review Tutorial Part 2

Thursday, September 23



Announcement

- Lab0P2 (due: Sep. 24)
- Lecture W3 (released: Sep. 20)
- Lab1 (released: Sep. 22)
- Written Test (due: Sep. 30 - Oct. 1)

2pm EST

o
mm 08daL .

-



For part 26, at approx. 5:06 minute mark, why are we setting 
   the index to -1 and not 0? 
I know it is “expected to be re-assigned to a valid index 
   if the ‘sn’ exists in the store” but 
   I don’t fully understand what that implies. 
Thank you for your time. 
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0 1. In lab or PT
,

you can use either solution.
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ftp.addpo-utln-eyIEELE )
↳

anynomous object
②
Point④ IN point (3 >4) 5

pc . addPoint ( pt ) ;
→ do we need to invoke any methods on pl ?

pl . moveUp (2) ;
YES → then D would not allow you to doNo → then②

that


